Time (s)

2 Pulses of Best Profile

Candidate: 2.51Hz_Cand RA 5000 = 19:06:52.8671
Telescope: Arecibo Best Fit Parameters
Epochtopo = 54943.37689813162  Reduced x = 7.781

—5x107¢

0

sample = 65476e-05 Py, (ms) = 397.5543(73)
Data Folded = 3909120 Piopo (5/5) = 0.0(2.2)x10”
Data Avg = 8.417e+04 P opo (s/s?) = 0.0(5.6)x107°
Data StdDev = 469.2 Binary Parameters
Profile Bins = 100 P () = N/A
Profile Avg = 3.287e+09 a,sin(i)/c (s) = N/A
Profile StdDev = 9.276e+04 T . =N/A
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Search Information

DEC = 05:10:16.1102

J2000

P(N0|se) < 1.82e—-104 (~21.70)
Epoch,,, = 54943.37883037014  Dispersion Measure (DM; pc/cm® ) 104.561

y (Ms) = 397.5884(73)
(s/s) 0.0(2.2)x10™
P"bqry (s/s2) = 0.0(5.6)x107?

e = N/A
w (rad) = N/A

Bx10° 0 —sx10°
P—dot — 3.9648e—11 (s/s)

IO.5I — 0 — I—0.5I
Period — 397.69636603 (ms)

Freq — 2.514481 (Hz)
—2x107° 0 2x1073

—5%x10~°
F—dot + 2.5068e—10 (Hz)

0.5 0 - -0.5
Period — 397.69636603 (ms)
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